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Brute-Force

® seed = random k-character substring from the
training text --- the initial seed

® repeat N times to generate N random letters

® for each occurrence of seed in training
text

® record the letter that follows the
occurrence of seed in a list

® choose a random element of the list as the
generated letter C

® print or store C

® seed = (last k-1 characters of seed) + C

Brute-Force
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Questions? lﬂf{

Factorial ﬁi

long fact(long i) {
ifG=1){
return 1;

}

long ¢ = fact(i-1);
returni * c;

}




Factorial

long fact(long i) { fact(5);
if(A==1){
return 1;

}

long ¢ = fact(i-1);
returni * c;

}

Factorial

ol

long fact(long 1) { fact(5);
ifG=1){
return 1;

}

long ¢ = fact(i-1);
returni * c;

}

Call Stack
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Factorial

long fact(long i) { fact(8);
if(A==1){
return 1;

}

long ¢ = fact(i-1);
returni * c;

}

Call Stack

Factorial

ol

long fact(long 1) { fact(5);
ifG=1){
return 1;

}

long ¢ = fact(i-1);
returni * c;

}

fact(B);

Call Stack
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if(A==1){
return 1;

}

long ¢ = fact(i-1);
returni * c;

}

fact(8);

Call Stack
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ifG=1) {
return 1;

}

long ¢ = fact(i-1);
returni * c;

}

fact(B);
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long fact(long i) { fact(5);
if(A==1){
return 1;

}

long ¢ = fact(i-1);
returni * c;

}

fact(8);

Call Stack

Factorial

long fact(long 1) { fact(5);
ifG=1){
return 1; R fa'ct(4);

}

long ¢ = fact(i-1);
returni * c;

}

fact(B);

Call Stack




Factorial

long fact(long i) { fact(5);
if(A==1){
return 1; ¢ = fact(4);

}

long ¢ = fact(i-1);
returni * c;

}

fact(4);
fact(B);

Call Stack

Factorial

long fact(long i) { fact(5);
ifG=1){
return 1; L faCt(4);

}

long ¢ = fact(i-1);
returni * c;

}

fact(4);
fact(B);

Call Stack
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ifG==1) {
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}
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returni * c;

}
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ifd=1){
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}
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}
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Call Stack

long fact(long 1) { fact(5);
if(A==1){
return 1; ¢ = fact(4);

} ¢ = fact(3);

long ¢ = fact(i-1);
returni * c;

}

fact(4);
fact(B);

Factorial

Call Stack

long fact(long 1) { fact(5);
ifd=1){
return 1; ¢ = fact(4);

} ¢ = fact(3);

long ¢ = fact(i-1);
returni * c;

}

fact(3);
fact(4);
fact(5);
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Call Stack
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if(A==1){
return 1; ¢ = fact(4);
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returni * c;

}

fact(3);
fact(4);
fact(B);
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}
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}

fact(3);
fact(4);
fact(5);
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ot ¢ = fact(R);
returni * c;

}

fact(R);
fact(3);
fact(4);
fact(B);

Call Stack

Factorial ﬁi

long fact(long 1) { fact(5);
ifd=1){
return 1; ¢ = fact(4);

} ¢ = fact(3);

long ¢ = fact(i-1); ¢ = fact(R);
returni * c;

}

fact(R);
fact(3);
fact(4);
fact(5);

Call Stack




Factorial hﬂ

long fact(long 1) { fact(5);
if(A==1){
return 1; ¢ = fact(4);

long ¢ = fact(i-1); ¢ = fact(R);
returni * c; c = fact(l);
)

fact(R);
fact(3);
fact(4);
fact(B);

Call Stack

Factorial hﬂ

long fact(long i) { fact(5);
ifd=1){
return 1; ¢ = fact(4);

} ¢ = fact(3);

long ¢ = fact(i-1); ¢ = fact(R);
returni * c; ¢ = fact(1);
}

fact(1);
fact(R);
fact(3);
fact(4);
fact(5);

Call Stack




Factorial hﬂ

long fact(long i) { fact(5);
if(A==1){
return 1; ¢ = fact(4);

ot ¢ = fact(R);
returni * c; ¢ = fact(l);
}

fact(1);
fact(R);
fact(3);
fact(4);
fact(B);

Call Stack

Factorial hﬂ

long fact(long i) { fact(5);
ifd=1){
return 1; ¢ = fact(4);

} ¢ = fact(3);

long ¢ = fact(i-1); ¢ = fact(R);
returni * c: ¢ = fact(1);
]

fact(1);
fact(R);
fact(3);
fact(4);
fact(5);

Call Stack




Factorial hﬂ

long fa.ct.(lgmg i) { fact(B);
ifGG=1){
return 1; ¢ = fact(4);
long ¢ = fact(i-1); QFIRob();
returni * c; ¢ = fact(l);
]
fact(1);
—§ fact(R);
&a fact(3);
:g fact(4);
| O fact(8);
Factorial hﬂ
long(fa.ct(lgng i) { fact(5);
ifGG=1){
return 1; ¢ = fact(4);
} ¢ = fact(3);
long ¢ = fact(i-1); ¢ = fact(R);
returni * c: ¢ = fact(1);
} fact(1) =1
'§ fact(R);
3 fact(3);
:g fact(4);
| O fact(8);




Factorial W

long fa.ct(l;mg i) { fact(5);
ifG=1){
return 1; ¢ = fact(4);
} ¢ = fact(3);
long ¢ = fact(i-1); ¢ = fact(R);
returni * c; ¢ = fact(l);
) fact(1) = 1
~§ fact(R);
& fact(3);
g fact(4);
| O fact(8);
Factorial H
long(fa.ct(lgng i) { fact(5);
ifGG=1){
return 1; ¢ = fact(4);
} ¢ = fact(3);
long ¢ = fact(i-1); ¢ = fact(R);
returni * c; ¢ = fact(1);
} fact(1)=1
'§ fact(R);
4 fact(3);
3 fact(4);
| O fact(5);




Factorial hﬂ

long fa.ct.(lgmg i) { fact(B);
ifG=1){
return 1; ¢ = fact(4);
} ¢ = fact(3);
et ¢ = fact(R);
returni * c; c = fact(l);
} fact(1) =1
§ fact(R) =2*1
&a fact(3);
:g fact(4);
| O fact(8);
Factorial hﬂ
long fa.ct(l;)ng i) { fact(5);
ifG=1){
return 1; ¢ = fact(4);
long ¢ = fact(i-1); ¢ = fact(R);
returni * c; ¢ = fact(l);
} fact(1) =1
§ fact(R) =R*1
3 fact(3);
:g fact(4);
| O fact(8);




Factorial W
long fa.ct(l;mg i) { fact(5);
ifG=1){
return 1: ¢ = fact(4);
} ¢ = fact(3);
long ¢ = fact(i-1); ¢ = fact(R);
returni * c; ¢ = fact(l);
) fact(1) = 1
§ fact(R) =2*1
& fact(3);
g fact(4);
| O fact(8);
Factorial i
1ong(fact(1;>n€ 1) { fact(5);
ifGG=1){
return 1: ¢ = fact(4);
} ¢ = fact(3);
long ¢ = fact(i-1); ¢ = fact(R);
returni * c; ¢ = fact(1);
) fact(1) = 1
v fact(R) =R*1
g fact(3) = 3*2*1
= fact(4);
| O fact(5);




Call Stack

Factorial "
long(fa.ct(lgmg i) { fact(5);
ifG=1){
return 1; ¢ = fact(4);
} ¢ = fact(3);
long ¢ = fact(i-1); ¢ = fact(R);
returni * c: ¢ = fact(l);
) fact(1) = 1
fact(R) = 2*1
fact(3) = 3*2*1
fact(4);
fact(B);

Factorial hﬂ

long fact(lgmg 1) { fact(5);
ifG==1){
return 1; ¢ = fact(4);
} ¢ = fact(3);
long ¢ = fact(i-1); ¢ = fact(R);
return i * c; ¢ = fact(1);
} fact(1)=1

Call Stack

fact(8)=2*1
fact(3) =3*2*1
fact(4);
fact(5);




Call Stack

Factorial '
long fa.ct(l;mg i) { fact(5);
ifG=1){
return 1; ¢ = fact(4);
} ¢ = fact(3);
long ¢ = fact(i-1); ¢ = fact(R);
returni * c; ¢ = fact(l);
) fact(1) =1
fact(R) =2*1
fact(3)=3*2*1
fact(B);

Factorial hﬂ

long fact(long i) { fact(5);
ifG==1){
return 1; ¢ = fact(4);
} ¢ = fact(3);
long ¢ = fact(i-1); ¢ = fact(R);
return i * c; ¢ = fact(1);
} fact(1)=1

Call Stack

fact(8)=2*1
fact(3) =3*R*1
fact(4) =4*3*2*1

fact(B);




Call Stack

Factorial H
long fa.ct(l;mg i) { fact(5);
ifG=1){
return 1: ¢ = fact(4);
} ¢ = fact(3);
long ¢ = fact(i-1); ¢ = fact(<);
returni * c; ¢ = fact(l);
) fact(1) = 1
o fact(2) = 2*1
8 fact(3) = 3*2*1
‘% fact(4) =4*3*2*1
| O fact(8);
Factorial H
1ong(fact(1;>n€ 1) { fact(5);
ifGG=1){
return 1: ¢ = fact(4);
} ¢ = fact(3);
long ¢ = fact(i-1); ¢ = fact(L);
returni * c; ¢ = fact(1);

fact(1) =1
fact(8)=2*1
fact(3)=3*2*1
fact(4) =4*3*2*1
fact(8)=65*4*3*2*1
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® hitp://codingbat.com/java/Recursion-1
e triangle
® sumDigits
® countHi
® hint: look at Java String functions

® Put all three methods in ONE java, file
names Recitationd,java and submit via
ambient.




